
1. What is a neoantigen?

A. A tissue specific overexpressed 
antigen

B. A bacterial antigen

C. A virus related antigen

D. A mutated somatic antigen





2. For the cancer immunity cycle, which one 
is correct?

A. Cancer cell death →priming and activation →trafficking of T cells to tumors → cancer antigen 
presentation → infiltration of T cells into tumors →recognition of cancer cells by T cells → killing of cancer 
cells

B. Cancer cell death→cancer antigen presentation→priming and activation→trafficking of T cells to 
tumors→infiltration of T cells into tumors→recognition of cancer cells by T cells → killing of cancer cells

C. Cancer cell death →cancer antigen presentation → trafficking of T cells to tumors →infiltration of T cells 
into tumors→priming and activation → recognition of cancer cells by T cells → killing of cancer cells





3. According to immunoediting theory, the 
correct sequence of events is?
A. Escape →Equilibrium → 

Elimination

B. Elimination → Equilibrium → 
Escape

C. Equilibrium → Elimination → 
Escape

D. Equilibrium → Escape → 
Elimination





4. According to the understanding of cancer 
immunology, which of the following cells is 
antagonist of growing tumors? 
A. Regulatory T cells (Treg cells)

B. Type 1 helper cells (Th1)

C. M1 macrophage

D. Th2

E. M2 macrophage

F. CD8+ T cells

G. Myeloid-derived suppressor 
cells (MDSC)

H. NK cells







5. Which one of the following treatments is 
NOT a type of cancer immunotherapy?
A. Therapeutic cancer vaccines

B. Checkpoint blockade 
antibodies

C. Cytokines

D. Alkylating agents

E. Monoclonal antibodies





6. Which of the following receptors will NOT 
be expressed on the surface of T cells?
A. CTLA-4

B. CD28

C. PD1

D. PD-L1

E. B7




